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1. Find lim
x—0

l—cosz 1
202 4
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T —2 is a continuous function, then ¢ =
c , =2

3. Find lim

z—0t

4. Find lim
Ax—0

5. Let f(x) =

sinx + cosx
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1.

10.

.8 )Is f(x) =

-1 V2+ax—+V2

(5 #) (b) Find lim
z—0

(5 2 (a) Find lim
x—

1 x—1 xz
N . sindx N . tan’x
. (5 #°) (a) Find lim — (5 %~") (b) Find lim
2—0 sin 3x a—0 @
(6 ) Let [[]] be the greatest integer 7 such that n < .
x
Let f(x) = Hg“ + 3. Is f continuous at z = 3 ? Explain your answer.

2
(6 =) Let f(x) = —2:152 — 2 —sinz — cos z.
m

Show that there is a number ¢ in [0, 7] such that f(c) = 0.

2

(8 ») Leth(t) =

. Find the vertical asymptotes of /. Explain your answer.

t4

(8 4 ) Find the derivative of f(x) = v/ + 2 for x > —2 by the limit process.

(5 %~") (a) Show that lim x sin 1 = 0.
z—0 xT
2 L
My Letglx) =4 © g " 70 i q'(0).
0 ,x =0

differentiable at x = 2 ? Explain your answer.

2 4+1 <2
dr —3 x> 2

(6 #") Find the tangent line of f(x) =

at point (1, 5).

D
5/x3

(8 %) Find the tangent line to f(z) = 23 that is parallel to 272 — y + 5 = 0.
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1 (a)3, (b) % 1.3 — %42 6, % 42 56"

2 (@%,(mo 1.3~ ¥ 38 74, 68"

3 % 1.4 — % %8 27"

4 LE3 1.4 — |48 957

5 x = —2 1is the only asymptote of / 1.5 — ¥ 4 28

6 1 2.1 — % {8 27"

2Vx +2

7 | (a), (b) ¢(0) =0 2.1— % %299

8 LE3 21— ¥ 491

9 y=—-3r+8 2.2 — ¥4 5T

10 | Tangent line: y — 27 = 27(z — 3) and y + 27 = 27(z + 3) 2.1 — ¥ 42 407
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